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Question 1.Select the related word/letters/numbers from the given alternatives:

& o kol # Qe efee/3eRiEd  # gfaw)
College: Student: : Hospital: __?

PR O 1 3T : ?
Options:

1) Doctor

EiCTy

2) Treatment

3TAR

3) Nurse

:

4) Patient

E

Correct Answer: Patient

E

Candidate Answer: Patient

E

Question 2.Select the related word/letters/numbers from the given alternatives:

3 I faehodt & Qi efse)/3ERE I gAT

DHL: PTX::BFJ:?

Options:
1) NRV

2) RVZ
3) CGK

4) KOS
Correct Answer: NRV
Candidate Answer: RVZ

Question 3.Select the related word/letters/numbers from the given alternatives:

&3 I Faehol 7 Aeieerd  Wrse/3BREAT I gAT
5:124::7:7?

Options:

1) 125

2) 248

3) 342

4) 343
Correct Answer: 342
Candidate Answer: 342

Question 4.

For the following questions

Find the odd word/letters/number pair from the given alternatives

39 el # feU 10 fashed] & & fawa oree/ 3eR/@HT  JIA giAT|
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Options:

1) Hard:Soft

FOR : TRHA

2) Hot:Cold

Eie )

3) Right:Wrong

LT ;I

4) Come:Arrive

3ATAT : QE?F-!T

Correct Answer: Come:Arrive

37T & ggaa
Candidate Answer: Hot:Cold
I B

Question 5.

For the following questions

Find the odd word/letter/number from the given alternatives

39 g A U atv feed 7 & fawe ese/ /@ geA 9w

Options:
1) AG

2) WA
3)ET

4)1Q
Correct Answer: ET
Candidate Answer: ET

Question 6.

For the following questions
Find the odd word/letter/number pair from the given alternatives

30 e # foU 1T fashed! & & fawH orse/ 3eR/@HT  FIA AT

Options:
1) 14, 12

2) 24,7
3) 42, 4

4) 37,4
Correct Answer: 37, 4
Candidate Answer: [ NOT ANSWERED ]

Question 7.Arrange the following words as per the order in the dictionary

TAfFTTET 2reel T Aseeher & 3TER sl 7 ford |
1. RESIGN 2. REPAIR 3. RESIDUE 4. RESEARCH 5. RESCUE
Options:

1)45312
2)25431
3)25413

4)54312
Correct Answer: 25431
Candidate Answer: 25431

Question 8.A series is given with one term missing, Choose the correct alternative from the given ones that will complete the series.

s A UwEen & 7S ¢, O U UG qeald e v et 7 & 95 o Rwew gfe shwer @ qua
JAZ, LEX, NIV, PMT, ?
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Options:
1) QUR

2) RQR
3) SUR

4) RUS
Correct Answer: RQR
Candidate Answer: RQR

Question 9.A series is given with one term missing, Choose the correct alternative from the given ones that will complete the series.

3 YT A ThEen & 1S §, fowe v ug eaid e e fawmedt 7 § 95 w6 Reew 9w Swer @ qu
19, 28, 39, 52, ?, 84

Options:

1) 39

2)52
3) 67

4) 84
Correct Answer: 67
Candidate Answer: 67

Question 10.X and Y are brothers. R is the father of Y. T is the sister of S who is maternal uncle of X. How is T related to R?

XIRYMEEIR, YHRGTE, T, SN S, X Frammg THRI T/ &7
Options:

1) Mother

AGT

2) Wife

roi

3) Sister

ErRG

4) Brother

a

Correct Answer: Wife

1

Candidate Answer: Wife

1

Question 11.A is taller than B. C is taller than A. D is taller than E but shorter than B. Who is the tallest?

A, BAHTE ICAQ NS DEATIEAIT B ABICNE TedR , 3oT8 HaH oIl Flet § ?

Options:
1)C

2)A
3)D

4)B
Correct Answer: C
Candidate Answer: C

Question 12.From the given alternative words, select the word which can be formed using the letters of the given word.
TeFfoir fashed! 3 & g erse AT S TGV 1T A o 37&RT T TIWT FXeh ST S Fehell§

SOMNAMBULISM

Options:

1) NAMES

2) BASALT

3) SOUL

4) BIOME
Correct Answer: SOUL
Candidate Answer: SOUL

Question 13.If D = 4, DOG = 26, then find the value of ANIMAL= ?

IfE D =4, DOG = 26 @ ANIMAL & A AT PfAT|
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Options:
1) 47

2) 49
3)48

4) 50
Correct Answer: 50
Candidate Answer: 50

Question 14.If '+' stands for '+', '-' stands for '=', 'x' stands for '+', '+'stands for greater than, '=' stands for less than, '>' stands for multiplication and '<' stands for
subtraction, then which of the following alternatives is correct?

R +, + & fAT IHTATE, -, = & fACIMATE, X, + & AU AT, +, AT & fAT INATE, = A FA & AT AT E, > 70T & AT 1R, 3 < ge= & fow 3marg, ar few
T ket # I it AT AereT TEY &2

Options:
1) 5+2x1=3+4>1

2) 5>2x1-3>4<1
3) 5x2<1-3<4x1

4) 5<2x1+3>4x1
Correct Answer: 5>2x1-3>4<1
Candidate Answer: 5>2x1-3>4<1

Question 15.1In this question, some equations are solved on the basis of a certain system. On the same basis find out the correct answer from amongst the four
alternatives for the unsolved equation.

o GHAROT Ueh TARET JoTel & gef fohT a1v &1 38 YR W) U 310 fehodl & el Scok geia [T ?

3X4X5 = 435

4X3X2 = 342

2X3X4="7?

Options:
1) 324
2) 342
3) 432

4) 243
Correct Answer: 324
Candidate Answer: 324

Question 16.In the question, selection the missing number from the given alternatives.

weeT # 3T 10 fashed & @ oea@dr A1 R |

6 15 20

8 4 5
3 5 20

51 65 °?

Options:
1) 56

2) 120
3) 151

4) 154
Correct Answer: 120
Candidate Answer: 120

Question 17.Ram walks 3 km towards East and takes a left turn and walks for one km before he turns left and walks 2 km to take another left turn to walk for another
one km. How many km is he away from his starting point?

TH G ¥ 3T 3 Be. A wrofalr § 3 A0 g5 1 ol woany R a1l g3 Y g 2 R i geram O v SR 3R aTd e 1 B aeany a8 IRe e @
fonctat fomalr. T & 2
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Options:
1) 1km
1 fw.an
2) 2kms
2 R
3) 3kms
3 R
4) 4kms
4 .3
Correct Answer: 1km
1 fR.an
Candidate Answer: 1km
1 .o

Question 18.Consider the given statement/s to be true and decide which of the given conclusions/assumptions can definitely be drawn from the given statement.
Statements: All fruits are leaves. Some fruits are grapes.

Conclusion I: Some leaves are grapes.

Conclusion II: All grapes are fruits.

Taf@d uea 3 T a7 & goded Y T §, e 319 &) fosehd/Aadd, 1 31T I ehrer a1 €1 3Rt TR R & T g §cd § IR 98 g od azat &
et gl giar gl 3mae T e § & Rw a7v goraey & & fi-ar ARad &9 & 8 se/Agar e s awar g ?

e : G et afcara €1 o werat T

ey : 1. g5 ufeqarst T8

II. #ofa T he gl

Options:

1) Only conclusion I follows

el TS IEET Y

2) Only Conclusion II follows

FT Ty [T g

3) Both conclusion I and II follows
g fseny T &1

4) Neither Conclusion I nor II follows
AT ar frsay 1 3R & g sy 11 g
Correct Answer: Only conclusion I follows
dr  fsed I EE Y

Candidate Answer: Neither Conclusion I nor II follows

A1 ar sy [ 3 A7 € Feny 11 Tgng
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Question 19.Find out the number of triangles in the figure given.

ferw gw o o foncret Feger € 2

Options:
1)6

2)8
3)10

4) 12
Correct Answer: 12
Candidate Answer: 10

Question 20.Which one of the following diagrams represent the correct relationship between DOCTORS, SURGEONS and NURSES

AT F A RT T SF, W qAT A4 & o TREG Pregn g7
Options:

©o
s

©
@

Correct Answer:

Qo

Candidate Answer:

D
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Question 21.Which answer figure will complete the pattern in the question figure?

aleT T 3 TP T INFHIT F Ffeq H QU I ?
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Correct Answer:

Candidate Answer:

Question 22.From the given answer figures, select the one in which the question figure is hidden/embedded?

& 1 3ok ITFHTAT A § 30 3ea? N F AT o weat ngpla B a1 Al

Options:

<

2)

3)

4)

Correct Answer:

Candidate Answer:




21/09/2016 Staff Selection Commision

Question 23.A piece of paper is folded and cut as shown below in the question figures. From the given answer figures, indicate how it will appear when opened.

A et 3Tt 7 e AR FETST T HSH Ficel T Wielel & oG T 18 Sca IMwlad  fearsy 2

Options:
1)

3)

4)

Correct Answer:

8]
[a] o

Q

Candidate Answer:

O
[a] Q

a

Question 24.If a mirror is placed on the line MN, then which of the answer figures is the right image of the given figure?

IR TR R MND I @SR A S 3ok NPTt H & e A 3y weet amapfer Hr wdy ity g 2
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Options:

.

2)

%

3)

i

4)

—

Correct Answer:

Candidate Answer:

%

Question 25.1n the question, a word is represented by only one set of numbers as given in any one of the alternatives. The sets of humbers given in the alternatives
are represented by two classes of alphabets as in two matrices given below. The columns and rows of Matrix I are numbered from 0 to 4 and that of Matrix II are
numbered from 5 to 9. A letter from these matrices can be represented first by its tow and next by its column. e.g. 'A’ can be represented by 22, 10 etc and 'P' can be
represented by 55, 67, 79 etc. Similarly, you have to identify the set for the word "NEAT".

AT weet # Reroat 7 v arvwar  -weg, 316RT & o aelf qarT gRlr arw §, @ o o fw arw aF 3mexggl 1 §1 3y [ & Saset 3iR@a @ 0 q4asar
1 8, 3 3TegE 11 & 5 W 9 A, 57 TSR § Ueh 3N &Y Ugol 3Hha T a6 7 T GaRTGal S Fhalle 360 & folw,A &7 22,10 e @R aanr - o
HEHAT § TAT P HT 55,67,79 3TE SART G@T ST Wehcllle ST NG ¥ 3Teh! 'NEAT' 216G & foIT T Hog I Tgaietell s

0 1 2 3 4 5 6 7 8 9
0 L M E A . 5 P T 0 R S
1 A C L N E 6l R S P T o]
2 N E A C L T 8] R S p
3 C L N E A 3 s P T Q R
4 E A C L M o O R 5 P T
Options:
1) 44,14,34,56

2) 20,33,78,75
3) 13,40,67,99

4) 32,21,41,68
Correct Answer: 32,21,41,68
Candidate Answer: 32,21,41,68

Question 26.Which one of the following is not a scheme/project of the present Government?

AERRT F A PT-W ANTATRT  WER A G & ?
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Options:
1) AMRUT
3d
2) Swachh Bharat
TS AR
3) AYUSH
A
4) Jan Dhan Yojana
e T JISTAT

Correct Answer: AYUSH
N

Candidate Answer: AMRUT
AT

3

Question 27.Which of the following was India's first interplanetary mission?

TrFfaf@d & & Fla-91 AR T gl Iea@lies ATHATT 2T ?
Options:

1) Chandrayaan Mission

Tog Tl TARRT

2) Mangalyaan Mission

e AR

3) Aryabhatta Mission

IWE e

4) Philae Mission

el fARreT

Correct Answer: Mangalyaan Mission
T AR

Candidate Answer: Aryabhatta Mission
IWE e

Question 28.Why the Earth is having its own atmosphere ?

Gl &1 AT ARBH  FAE ?
Options:

1) Winds

ag

2) Clouds

el

3) Gravity

T[T Qi

4) Rotation of the Earth
TR

Correct Answer: Gravity

ATy QAfFT

Candidate Answer: Gravity
oAt Qi

Question 29.Motor skills are associated with which part of the brain?

Pl AR & FeT-d T H wU aRia ¥?
Options:

1) Frontal lobe

oIl AT

2) Parietal Lobe

e wfer

3) Temporal lobe

Slifeher ST

4) Occipital Lobe

qRIHYTeT ST

Correct Answer: Frontal lobe
oTellc 1T

Candidate Answer: [ NOT ANSWERED ]

Question 30.Which enzyme is present in all members of the animal kingdom except Protozoa?

FISISH3T & 3TeTaT HleT-AT ToallgH TTOTaTaTe o Hell Heedt ¥ HSG © ?
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Options:
1) Insulin
sgfo
2) Pepsin

g
3) Renin

ReT
4) Amylase
R

Correct Answer: Amylase

iR

Candidate Answer: Insulin

o -}
Question 31.At boiling point of liquids , its

R IS & FITH W

Options:

1) Temperature increases

ATTHAT TGAT &

2) Atmospheric pressure increases

arpdT o1 et ¥

3) Temperature remains constant

YA Had AT g

4) Vapour pressure decreases

ITSIES TeaT §

Correct Answer: Temperature remains constant
AT AT Wwar g

Candidate Answer: Temperature remains constant
A Had AT g

Question 32.A level of atmosphere which is composed partly of electrons and positive ions is called

ATTEROT 7 a6 T ol s 3R OAIcHS 31T & Fo ST F 0T T § AT FEeld 82
Options:

1) Troposphere

[ [IE=triry

2) Ionosphere

ITAARHIT

3) Stratosphere

ERHIR

4) Mesosphere
W

Correct Answer: Ionosphere

ITITRRRIR
Candidate Answer: [ NOT ANSWERED ]

Question 33.In India which of the following taxes is levied by the State governments?

AR A rafaf@a 7 & Sle-ar T T THR TR agell ST § ?
Options:

1) Excise duty on liquor

I T 3NTHRT Yo

2) Capital gains tax

3) Customs tax

AT Yok

4) Corporation tax

IGLEETY

Correct Answer: Excise duty on liquor
T T NIRRT Yo

Candidate Answer: Customs tax
AT ok

Question 34.After question hour, a motion moved by a Member of Parliament to draw the attention of Executive for discussing a definite matter of public importance is

T2 I & TG, had & ol TG GaNT STeTdl & Fged & Tl e v X fan-fas #@l o caer st & v <@ oran game a1 sgardn & ?
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Options:
1) Privilege motion
fRfOHR  g&dT

2) Calling attention Motion

AT TR JEATT

3) Adjournment motion

T TEIT

4) No- confidence motion

Jifdear g&dE

Correct Answer: Adjournment motion
BT JEITT

Candidate Answer: [ NOT ANSWERED ]

Question 35.The major objective of monetary policy is to

AfF AT FAET W FATATE?

Options:

1) increase government's tax revenue

T o A g

2) revamp the Public Distribution System

SieT fareRoT uTTel 3 guR

3) Promote economic growth with price stability
Ao Foerar & arr an® e A diewfed aer
4) weed out corruption in the economy

T W HSTAR H gl

Correct Answer: Promote economic growth with price stability

o TR & 9 3@ e deafed e
Candidate Answer: [ NOT ANSWERED ]

Question 36.The only Viceroy to be assassinated in India was

TE ThAT IRIT FieT & [SaThr IR & gear §é oA
Options:

1) Lord Harding

IS gHE

2) Lord Northbrook

IS A+

3) Lord Ellenborough

IS TAAIRY

4) Lord Mayo

CIE

Correct Answer: Lord Mayo

CIER

Candidate Answer: [ NOT ANSWERED ]

Question 37.Which one is not the main objective of fiscal policy in India?

AN 7 e A F g oy Flawradis?
Options:

1) To increase liquidity in the economy

AT H aeldT SeelT

2) To promote price stability

Ao FRRET T SicHfed e

3) To minimize the inequalities of income & wealth
FTHEAT 3T FFdfed 6T TFATAAT P HH HEAT

4) To promote employment opportunity

ASTIR & TR T Wedfed AT

Correct Answer: To increase liquidity in the economy

AT H aeldT SgelT
Candidate Answer: [ NOT ANSWERED ]

Question 38.Who was the founder of the Theosophical Society?

"R AT FRMTR  PiT I ?
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Options:

1) Justice Ranade

SIfeH =TS

2) Madam Blavatsky

g seradh

3) Annie Besant

TR

4) Bal Gangadhar Tilak

eEer  faes

Correct Answer: Madam Blavatsky

S solgaEhT
Candidate Answer: [ NOT ANSWERED ]

Question 39.India recently signed land boundary agreement with which country?

o7 &1 7 AR o RReRE 3 T oF-To Tty TR geR R §2
Options:

1) China

At

2) Nepal

Pl

3) Bhutan

gl

4) Bangladesh

R

Correct Answer: Bangladesh

T

Candidate Answer: [ NOT ANSWERED ]

Question 40.Who among the following Indians is one who has been selected on July 27,for the Ramon Magsaysay Award, 2016?

freAfafed sRcal # & 27 s 2016 F TR qXEHR & v fndy gar o @ ?
Options:

1) Bezwada Wilson
EIcEiT]

2) Kailash Satyarthi

aRr - geart

3) Kiran Bedi

[ERu=)

4) Mahasweta Devi

R &R

Correct Answer: Bezwada Wilson

FaEr  faewe
Candidate Answer: [ NOT ANSWERED ]

Question 41.The first Field Marshall of India was

AR T IUH Hog AR FiT A7
Options:

1) A. S. Vaidya

T THEET

2) K.M. Cariappa

&, TH. HR3ICAT

3) Sunderiji

iy

4) S.H.F.J. Manekshaw

TH. UF. T, Y. TRl

Correct Answer: S.H.F.J. Manekshaw
TH. T, T, Y. TRl

Candidate Answer: [ NOT ANSWERED ]

Question 42."Earth provides enough to satisfy everyman's need but not everyman's greed". Who said this?

"Rt B & e & forw 7ET afoen @l o sraegerd3i @ gfd & fAv uwr  Arere 3t S 8 I8 U e der ar ?



21/09/2016 Staff Selection Commision
Options:
1) Guru Nanak Dev
e T
2) Mahatma Gandhi
FETeAT ey
3) Pope Paul VI
9 gier VI
4) Smt. Indira Gandhi
ALY e aivedr
Correct Answer: Mahatma Gandhi
HETCHT ATl
Candidate Answer: [ NOT ANSWERED ]

Question 43.Who won the first medal for India at the Rio Olympics?

RAT 3N AfETTFT 7 AR & [T ggelr Ueeh haet siar?
Options:

1) Babita Kumari

Sferer FAy

2) Narsingh Yadav

TREH Fled

3) P. V. Sindhu

oY, 4t fﬁo

4) Sakshi Malik

| #Afers

Correct Answer: Sakshi Malik

anedt Afos
Candidate Answer: [ NOT ANSWERED ]

Question 44.The most serious air pollutant causing health hazard is

TR FIHE  H STolel aTel FIUHR AR Ygueh Hied-7M § ?
Options:

1) Sulphur dioxide

HTR 1S 3TFASS

2) Carbon monoxide

FH AL TS

3) Ozone

AT

4) Nitrogen oxide

A 3TFASS

Correct Answer: Sulphur dioxide
ToUR 315 3TFASS

Candidate Answer: Carbon monoxide
FH A TS

Question 45.Helium is added to the oxygen supply of deep sea divers because it is

TG G & INAERT 1 JAferdioret 3mqfct # Sifcrgs e Sirch § arifen
Options:

1) less poisonous than nitrogen

Ig TSI T FH el &

2) Lighter than nitrogen

Tg ABLISHT § goahl aIclT &

3) Readily miscible with oxygen

g JiTaRdIstT & T STeer AT & S §

4) less soluble in blood than nitrogen at high pressure

g 3o e I SIS B W Tl H hl Gora et glell §

Correct Answer: less soluble in blood than nitrogen at high pressure
I 3T S W ARG HT 3 GeT H D Goldhe gl §
Candidate Answer: Readily miscible with oxygen

=g JiTaRiIste & T SToer AT & S ¥

Question 46.Terylene is a condensation polymer of ethylene glycol and which acid?

Rl |, vl s 3R TRy 31t remiteT EETW%?
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Options:
1) Benzoic Acid
Sollssh 3rFeT
2) Salicylic acid
aforasioes 3
3) Phthalic acid
uTferh 3l
4) Terephthalic acid
qafos 3
Correct Answer: Terephthalic acid

qafors 3T
Candidate Answer: [ NOT ANSWERED ]

Question 47.In IT, means that the data available in the database is both accurate and consistent.

MAH,_ w S oew A 3udey srer we e qui |
Options:

1) Data Security

sreT R

2) Data Availability

3rer Hafaferdr

3) Data Binding

4) Data Integrity

3TeT ST

Correct Answer: Data Integrity

3TeT SR

Candidate Answer: Data Availability
3rer Fafaferer

Question 48.0n a clean glass plate a drop of water spreads to form a thin layer whereas a drop of mercury remains almost spherical because

FIT H TH @ TR AT H Sgdh X Tk el Tl §e7 ST § ST 1h IR T g MAHR F=17 el § Fifh
Options:

1) Mercury is a metal

GRT T & &

2) Density of mercury is greater than that of water

R T Teled, Tl & Hecd A ST 81T §

3) Cohesion of mercury is greater than its adhesion with glass

e & TRT IR B TG, SR TR & 310 Qe §

4) Cohesion of water is greater than its adhesion with glass

T & TR I T TG, ST Iiegerfra & ftw e

Correct Answer: Cohesion of mercury is greater than its adhesion with glass
e & A IR T TG, ST IAfFT F e g &

Candidate Answer: Mercury is a metal

GRT T €] &

Question 49.The smallest island country in the Indian Ocean is

HRATT FERIR & T OYeT ediuely leT-ard ?
Options:

1) Maldives

AT

2) Sri Lanka

T

3) Mauritius

Arfrer

4) Madagascar

FTER

Correct Answer: Maldives

AT
Candidate Answer: [ NOT ANSWERED ]

Question 50.The Chairman of the Public Accounts Committee of the Parliament is appointed by the

® HrdmEr @Al % sreger f FgRd ST wars ?



21/09/2016 Staff Selection Commision

Options:

1) President of India

R T ISga T

2) Prime Minister of India
HR T JUTAHAT

3) Speaker of Lok Sabha
Sl HT T 3TETET

4) Chairman of Rajya Sabha
ST GHT T 38T

Correct Answer: Speaker of Lok Sabha
Sl FHT T 38T

Candidate Answer: [ NOT ANSWERED ]

Question 51.A and B can together do a piece of work in 6 days and A alone can do it in 9 days. The number of days B will take to do it alone is

A 3T B Hefeht Ueh & &1 6 foet QU T Tt § 3T A 365 309 ool Ao Tohame B 3 30 1A 1 fohclel fet Ay o ?
Options:

1) 18 days

18 f&et

2) 24 days

24 feeT

3) 9 days

9 feet

4) 12 days

12 et

Correct Answer: 18 days
18 feat

Candidate Answer: 18 days
18 ot

Question 52.The length of the two parallel sides of a trapezium are 16 m and 20 m respectively. If its height is 10 m, its area in square metres is

U FHGES HT o T foT3ll Pl Feen 16 #ex 3T 20 Aeud Il sEheE 10 Hiet g At 9 e # sEEha A Aifa ?

Options:
1) 360

2) 260
3) 240

4) 180
Correct Answer: 180
Candidate Answer: [ NOT ANSWERED ]

Question 53. A discount series of 15%, 20% and 25% is equal to the single discount of?

15%, 20% 3T 25% & Fe@el  fhclal % HT Tehel P & R & ?

Options:
1) 48%

2) 49%
3) 50%

4) 51%
Correct Answer: 49%
Candidate Answer: [ NOT ANSWERED ]

Question 54.Rs. 490 is divided among A, B and C such that A's share is half that of B's and thrice that of C's. What is C's share?

Rs.490 T A, B 3 C A 5@ v asnford fFrarsmarg fr Ay Bt amemy 3RCFW T aame CHy fhaang ?

Options:
1) Rs.49

2) Rs.147
3) Rs.294

4) Rs.245
Correct Answer: Rs.49
Candidate Answer: [ NOT ANSWERED ]
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Question 55.A dealer sold an article at 6% loss. Had he sold it for Rs. 64 more, he would have made a profit of 10%. Then the cost of the article is

T fa o FoRe I T 6% T ETiel TRe| T 3T 37 G T Rs. 64 TR FH I AT I 10% T o1 BT | A T ot fehiatt @ ?
Options:
1) Rs.400
2) Rs.200
3) Rs.164

4) Rs.464
Correct Answer: Rs.400
Candidate Answer: [ NOT ANSWERED ]

Question 56.There are 1400 students in a school, 25% of those wear spectacles and 2/7 of those wearing spectacles are boys. How many girls in the school wear
spectacles?

Teh Thol H 1400 B §, 3AH 25% TH M § 3T TH e aTell 7 2/7 W5 § | Tool H fobctell ersferat aream same § 2

Options:
1) 250

2) 100
3) 200

4) 300
Correct Answer: 250
Candidate Answer: [ NOT ANSWERED ]

Question 57.A man can row upstream at 12 km/hr and downstream at 18 km/hr. The man's rowing speed in stillwater is

Teh TS URT Y Tfcreer foen & 12 fn.a 30T rgeer foen o 18 Tr.ai oy a1fy & tent o weheme TR el & ST it <Tollet 1 aTfey fahctet g1am 2
Options:

1) 15 km/hr

15 .. /auer

2) 5 km/hr

5 .7 . /gver

3) 3 km/hr

3 fr.3. /aver

4) 10 km/hr

10 .7, /gver

Correct Answer: 15 km/hr
15 .5 /goer

Candidate Answer: [ NOT ANSWERED ]

Question 58.

2
If ab = 21 and (atb) _ 25

YL 2412 ;
P e then the value of a2+ b%+ 3abis

z
it ab = 213#1?52122: i—SETHTaE+b3+SabEFFFIFF T g ?

Options:
1) 115

2) 121
3) 125

4) 127
Correct Answer: 121
Candidate Answer: [ NOT ANSWERED ]

Question 59.The value of (d5*t+ d5) + dt would be
(dS*t+ dS)+ dt T AT FAT BN ?

Options:

1) d2(s+t)

2)1

3)0

4) @t
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Correct Answer: 1
Candidate Answer: [ NOT ANSWERED ]

Question 60.Possible measures of three angles of a triangle are

T T38[T o ot 10T TS HIeT T g1aT ?

Options:
1) 33°, 42°, 115°

2) 40°, 70°, 80°
3) 30°, 60°, 100°

4) 50°, 60°, 70°
Correct Answer: 50°, 60°, 70°
Candidate Answer: [ NOT ANSWERED ]

Question 61.BD and CE are two medians of the triangle ABC. If EO = 7 cm, then the length of CE is

BD 31X CE f33fet ABC & Aregahig e EO = 7 Q.70 g A CE &Y ohas il § 2
B

A D C

Options:
1) 28 cm
28 7.7
2) 14 cm
14 E.A.
3)21cm
21 .
4) 35cm
35 &

Correct Answer: 21 cm
21 T

Candidate Answer: [ NOT ANSWERED ]

Question 62.
If sec’f + tanf = V3, then the value of sec*d — tan'f is

qfE sec?0 + tan?6 = V3,8 disec*d — tan*d 1 HI fhdelt ?

Options:
1) Yy3

2)1
3)V3

4)0
Correct Answer: V3
Candidate Answer: [ NOT ANSWERED ]

Question 63.The greatest perfect square number of 6 digits is

6B N GIW I gl FAEHT AT ?

Options:
1) 999001

2) 998001
3) 998009

4) 998101
Correct Answer: 998001
Candidate Answer: [ NOT ANSWERED ]
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Question 64.The average height of 30 boys out of a class of 50 is 160 cm. If the average height of the remaining boys is 165 cm, the average height of the whole
class (in cm) is:

50 eT3ehi T Teh FaTT H 30 eTsehi ol A o ars 160 A.3IT IR ezt it 3 et s 165 {77 &, A 1 T hr 3ae oS (F.77. ) forcet giefr 2
Options:

1) 161

2) 162

3) 163

4) 164
Correct Answer: 162
Candidate Answer: [ NOT ANSWERED ]

Question 65.Givena - b =2, a3- b3=26 then (a+ b)2 is

FiTa-b=2,a3-b3 =268 dl(a + b)2H AT FT M ?
Options:

1)9

2)4

3) 16

4) 12
Correct Answer: 16
Candidate Answer: [ NOT ANSWERED ]

Question 66.If X + Y + Z = 9 then the value of (X - 4)3 + (Y- 2)3 + (Z-3)3-3(X-4) (Y-2) (Z-3)is

FREX+Y+Z=98ar(X-43 +(Y-23+(@Z-3)3-3(X-4)(Y-2)(Z-3) FTA e & ?
Options:

1)6

2)9

3)0

4)1
Correct Answer: 0
Candidate Answer: [ NOT ANSWERED ]

Question 67.Three medians AD, BE and CF of AABC intersect at G; Area of AABC is 36 sq cm. Then the area of ACGE is

AABC & et Freares AD, BE 311X CF U g@¥ &1 G W #ied §, i AABC FT#Fel 36 A.A2 g1 af ACGE bl frcte & ?
Options:

1) 12sqcm

12 3.2

2) 6sqcm

6 g.3%.2

3)9sqcm

9J.A2

4) 18 sq cm

18 {742

Correct Answer: 6 sq cm
6 J.A.2

Candidate Answer: [ NOT ANSWERED ]

Question 68.A chord of a circle is equal to its radius. A tangent is drawn to the circle at an extremity of the chord. The angle between the tangent and the chord is

Teh ged S ST 38! 3T & sNeRiE SNaT & B W ged A Th T & Srelg Tader 30T Siar & e ot feaa gt o1 g ?

Options:
1) 30°

2) 45°
3) 60°

4) 75°
Correct Answer: 30°
Candidate Answer: [ NOT ANSWERED ]
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Question 69.

2
Ifmsin® = 1,mw cosf = 1, then the value of {\-'Etan(gﬁ') +1}is

2
AT 7sin@ = 1,7 cos@ = 1,ETFIT{\-§tan(§3) + 1} FHIHA FATEET?

Options:
1)1

2)v3

3)2

a) Yy
Correct Answer: 2
Candidate Answer: [ NOT ANSWERED ]

Question 70.The difference between simple and compound interest (compounded annually) on a sum of money for 3 years at 10% per annum is Rs. 93. The sum (in
Rs.) is:

10% wfer a¥ oY 3 a¥ & o el TR o) Amemer 3 aghe s (G afaadaiog R smar§) S daat Rs. 93 #ng TR ettt (Rs. #) & 2

Options:
1) 30000

2) 30300
3) 3000

4) 3030
Correct Answer: 3000
Candidate Answer: [ NOT ANSWERED ]

Question 71.The angles of elevation of top and bottom of a flag kept on a flagpost from 30 metres distance, are 45° and 30° respectively. Height of the flag is [taking
V3 =1.732]

TF O B I W €99 3 AN 3R 30 e Hr g  IeAa+T For A 450 37 300§ eaT Fr#E Rt § 7 (AT V3 = 1.732)
Options:

1)12vV3m

12 V3 #iex

2)15m

15 #Aiex

3)1432m

14.32 AX

4) 12.68 m

12.68 #Hiex

Correct Answer: 12.68 m
12.68 AreX

Candidate Answer: [ NOT ANSWERED ]
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Question 72.Study the following bar-diagram carefully and answer the questions. The bar graph given below shows the foreign exchange reserves of a country (in
million US $) from 1991 - 1992 to 1998 - 1999.

IR AT &l &1 § Ifed 31T ool & e Aforw| e fqw 970 aR o & wamly &7 1991 - 1992 § 1998 - 1999 d&F FI ®R  Taraial Reatd (fAforst . wa. §) & feamg

6000
5000 5040
4320
4000 3720
3360
a0 3120

2000
2000
1000

0 1991 1952 1953- 15594 19” 1996 1387 1998

08 -89

The ratio of the number of years, in which the foreign exchange reserves are above the average reserves, to those in which the reserves are below the average
reserves is

W asfAEm SR R et Retd 3ited Retd & 0T TeT 81 3 O ot Fredr  foreasite, Rerd &« @1 8, &1 31eard #21 g1 ?

Options:
1) 2:6

2) 3:4
3)3:5

4) 4:4
Correct Answer: 3:5
Candidate Answer: [ NOT ANSWERED ]

Question 73.Study the following bar-diagram carefully and answer the questions. The bar graph given below shows the foreign exchange reserves of a country (in
million US $) from 1991 - 1992 to 1998 - 1999.

IR I I AT 8 Ifed 31T 72t & Sea¥ AT o U 970 aR I 7 vamE &7 1991 - 1992 § 1998 - 1999 A& A ®R  Taraael Rord (fAforret I.wa. §) & feamg

&000
e 5040
4320
4000 o
3360
3120 —

3000
2000
1000

C, 91 195: 195! 1994 i 1994 1997 1958

o8 -89

The foreign exchange reserves in 1996-97 were approximately what percent of the average foreign exchange reserves over the period under review?

ay¥ 1996 - 1997 H ®R  TaTol Rord, 3ad R TFa=isT Rid &7 oTeT fhd=r gfaerd 3T ?

Options:
1) 95%

2) 110%
3) 115%

4) 124%
Correct Answer: 124%
Candidate Answer: [ NOT ANSWERED ]
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Question 74.Study the following bar-diagram carefully and answer the questions. The bar graph given below shows the foreign exchange reserves of a country (in
million US $) from 1991 - 1992 to 1998 - 1999.

IR AT &l &A1 § Ifed 31T weadt & e Aforw| e fqw 970 aR o & wamly &7 1991 - 1992 § 1998 - 1999 A& FI ®R  Taraaial Reatd (fAforet . wa. §) & feamg

6000
5000 5040
4320
4000 3720
3360
a0 3120

2000

2640 2520
2000
1000

0 1951 1892 1993 15594 1935 1998 1387 1998
92 -93 ~94 A5 -0 a7 -8 -89

The percentage increase in the foreign exchange reserves in 1997-98 over 1993-94 is

¥ 1997-98 7 I¥ 1993-94 FI 3  H®R wﬂaﬁa&ﬁmﬁqﬁamma@aﬁgﬁ?

Options:
1) 100

2) 150
3) 200

4) 120
Correct Answer: 100
Candidate Answer: [ NOT ANSWERED ]

Question 75.Study the following bar-diagram carefully and answer the questions. The bar graph given below shows the foreign exchange reserves of a country (in
million US $) from 1991 - 1992 to 1998 - 1999.

IR T I AT 8 Ifed 31T 72T & Sea¥ AT | o QU 970 9 I 7 vamE &7 1991 - 1992 § 1998 - 1999 A& A ®R  Tarwaer Rord (Aot .ww. §) & feamg

6000
o 5040
4320
4000 s
3360
31z 3120

3000

2640 o~
2000
1000

o Tea1 1882 1993 1994 1355 1996 1997 1998
92 53 94 95 -8 o7 08 89

Ratio of the sum of foreign exchange during the years 1991-92, 1992-93, 1993-94 to that during the years 1995-96, 1996-97, 1997-98 is

a¥ 1991-92, 1992-93, 1993-94 F ®R  UaFIol Notd & AT 3T ¥ 1995-96, 1996-97, 1997-98% ®R  ToReist RaTd o e T T AT HifoIw ?
Options:
1) 31: 35

2) 35:31
3) 37:52

4) 52:37
Correct Answer: 37:52
Candidate Answer: [ NOT ANSWERED ]

Question 76.1In the following question, out of the four alternatives, choose the word which best expresses the meaning of the given word and click the button
corresponding to it.

PANACEA
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Options:

1) PRAISE

2) CURE-ALL

3) POISON

4) AMBROSIA

Correct Answer: CURE-ALL

Candidate Answer: [ NOT ANSWERED ]

Question 77.In the following question, out of the four alternatives, choose the word which is opposite in meaning to the given word and click the button corresponding
toit.

DETEST

Options:

1) DENOUNCE

2) IGNORE

3) ADORE

4) CASTIGATE

Correct Answer: ADORE

Candidate Answer: [ NOT ANSWERED ]

Question 78.Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word and click the button corresponding to it.
Options:

1) Debilitate

2) Impecable

3) Inkulcate

4) Harrass

Correct Answer: Debilitate

Candidate Answer: Debilitate

Question 79.The sentences given with blanks are to be filled with an appropriate word(s). Four alternatives are suggested for each question. For each question,
choose the correct alternative and click the button corresponding to it.

What a holiday!
Options:

1) momentous

2) memorable

3) momentary

4) immortal

Correct Answer: memorable

Candidate Answer: memorable

Question 80.The sentences given with blanks are to be filled with an appropriate word(s). Four alternatives are suggested for each question. For each question,
choose the correct alternative and click the button corresponding to it.

Many important projects have reached the final stage of .
Options:

1) accomplishment

2) initiation

3) resolution

4) implementation

Correct Answer: implementation

Candidate Answer: implementation

Question 81.The sentences given with blanks are to be filled with an appropriate word(s). Four alternatives are suggested for each question. For each question,
choose the correct alternative and click the button corresponding to it.

you live long!

Options:

1) Might

2) May

3) Shall

4) Should

Correct Answer: May

Candidate Answer: May

Question 82.In the following questions, one part of the sentence may have an error. Find out which part of the sentence has an error and click the button
corresponding to it. If the sentence is free from error, click the "No error" option.

Each of the girls (A) / have come (B) / with her books. (C) / No Error (D)
Options:

1A

2)B

3)C

4)D

Correct Answer: B

Candidate Answer: B
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Question 83.In the following questions, one part of the sentence may have an error. Find out which part of the sentence has an error and click the button
corresponding to it. If the sentence is free from error, click the "No error" option.

Me and my wife (A) / were at home (B) / last night. (C) / No Error (D)
Options:

1A

2)B

3)C

4)D

Correct Answer: A

Candidate Answer: D

Question 84.In the following questions, one part of the sentence may have an error. Find out which part of the sentence has an error and click the button
corresponding to it. If the sentence is free from error, click the "No error" option.

Essay writing is an art (A) / that requires many planning (B) / on the part of the writer. (C) / No Error (D)
Options:

1A

2)B

3)C

4)D

Correct Answer: B

Candidate Answer: B

Question 85.In each of the questions, four alternatives are given for the Idiom/Phrase. Choose the alternative which best expresses the meaning of the Idiom/Phrase
and click the button corresponding to it.

Caught red-handed

Options:

1) Caught by mistake

2) Caught with a red-handkerchief

3) Found wounded

4) Discovered in the act of doing

Correct Answer: Discovered in the act of doing

Candidate Answer: Caught with a red-handkerchief

Question 86.In each of the questions, four alternatives are given for the Idiom/Phrase. Choose the alternative which best expresses the meaning of the Idiom/Phrase
and click the button corresponding to it.

Gate crasher

Options:

1) Invader

2) Thief

3) Uninvited guest

4) Children

Correct Answer: Uninvited guest

Candidate Answer: Children

Question 87.In each of the questions, four alternatives are given for the Idiom/Phrase. Choose the alternative which best expresses the meaning of the Idiom/Phrase
and click the button corresponding to it.

To angle

Options:

1) To measure the river breadth
2) To fish with a net

3) To fish

4) To sit and watch the river
Correct Answer: To fish

Candidate Answer: [ NOT ANSWERED ]

Question 88.0ut of the four alternatives, choose the one which can be substituted for the given words/sentences and click the button corresponding to it.

Favouritism shown by a person in power to his relatives
Options:

1) Formalism

2) Red-tapism

3) Nepotism

4) Bureaucracy

Correct Answer: Nepotism

Candidate Answer: [ NOT ANSWERED ]

Question 89.0ut of the four alternatives, choose the one which can be substituted for the given words/sentences and click the button corresponding to it.

A round-about way of expression
Options:

1) Verbosity

2) Talkativeness

3) Circumlocution

4) Locquacious
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Correct Answer: Circumlocution
Candidate Answer: [ NOT ANSWERED ]

Question 90.0ut of the four alternatives, choose the one which can be substituted for the given words/sentences and click the button corresponding to it.

Suitable or intended for only young persons
Options:

1) Youthful

2) Puerile

3) Adolescent

4) Juvenile

Correct Answer: Juvenile

Candidate Answer: Youthful

Question 91.A sentence/a part of the sentence is underlined. Four alternatives are given to the underlined part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In case no improvement is needed, click the button corresponding to "No improvement".

Each self is unique, and therefore cannot be compared.
Options:

1) incomparable

2) Non comparable

3) Incomparably

4) No improvement

Correct Answer: incomparable

Candidate Answer: Non comparable

Question 92.A sentence/a part of the sentence is underlined. Four alternatives are given to the underlined part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In case no improvement is needed, click the button corresponding to "No improvement".

Shall I sit between you at the concert?
Options:

1) beside

2) besides

3) next

4) No Improvement

Correct Answer: beside

Candidate Answer: beside

Question 93.A sentence/a part of the sentence is underlined. Four alternatives are given to the underlined part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In case no improvement is needed, click the button corresponding to "No improvement".

No one other reason than poverty is hampering India's progress.
Options:

1) No other

2) None other

3) No another

4) No improvement

Correct Answer: No other

Candidate Answer: No improvement

Question 94.A sentence/a part of the sentence is underlined. Four alternatives are given to the underlined part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In case no improvement is needed, click the button corresponding to "No improvement".

The custom has took root in the society.
Options:

1) taken root

2) take root

3) takes root

4) No improvement

Correct Answer: taken root

Candidate Answer: taken root

Question 95.A sentence/a part of the sentence is underlined. Four alternatives are given to the underlined part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In case no improvement is needed, click the button corresponding to "No improvement".

We will take care of your children when you are away at Mumbai.
Options:

1) be looking for

2) look after

3) take care after

4) No improvement

Correct Answer: look after

Candidate Answer: look after
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Question 96.A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives and
click the button corresponding to it.

My brother, David, was always close to our grandmother. Both of them shared a love of Mother Nature and of food that they had grown themselves. Whenever his
schedule permitted, he would drop in for a short visit and a cup of coffee. One day, when he found no one home, he left a chunk of dirt on her porch. This started
what was later to be known as his "calling card". Grandmother would come home occasionally and instantly know that Dave had been by when she spotted the chunk
of dirt on her porch.

Although Grandmother had a poor upbringing in Italy, she managed to do well in the United States. She was always healthy and independent and enjoyed a fulfilling
life. Recently she had a stroke and died. Everyone was saddened by her death. David was disconsolate. His life-long friend was now gone.

What is the opposite of the word 'disconsolate'
Options:

1) Devastated

2) Hilarious

3) Exuberant

4) Sombre

Correct Answer: Exuberant

Candidate Answer: [ NOT ANSWERED ]

Question 97.A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives and
click the button corresponding to it.

My brother, David, was always close to our grandmother. Both of them shared a love of Mother Nature and of food that they had grown themselves. Whenever his
schedule permitted, he would drop in for a short visit and a cup of coffee. One day, when he found no one home, he left a chunk of dirt on her porch. This started
what was later to be known as his "calling card". Grandmother would come home occasionally and instantly know that Dave had been by when she spotted the chunk
of dirt on her porch.

Although Grandmother had a poor upbringing in Italy, she managed to do well in the United States. She was always healthy and independent and enjoyed a fulfilling
life. Recently she had a stroke and died. Everyone was saddened by her death. David was disconsolate. His life-long friend was now gone.

David would drop in for a short visit and leave a as a sign on grandma's porch if she was not at home.
Options:

1) schedule

2) chunk of dirt

3) calling card

4) cup of coffee

Correct Answer: chunk of dirt

Candidate Answer: chunk of dirt

Question 98.A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives and
click the button corresponding to it.

My brother, David, was always close to our grandmother. Both of them shared a love of Mother Nature and of food that they had grown themselves. Whenever his
schedule permitted, he would drop in for a short visit and a cup of coffee. One day, when he found no one home, he left a chunk of dirt on her porch. This started
what was later to be known as his "calling card". Grandmother would come home occasionally and instantly know that Dave had been by when she spotted the chunk
of dirt on her porch.

Although Grandmother had a poor upbringing in Italy, she managed to do well in the United States. She was always healthy and independent and enjoyed a fulfilling
life. Recently she had a stroke and died. Everyone was saddened by her death. David was disconsolate. His life-long friend was now gone.

Grandmother used to be

Options:

1) rich in Italy but poor in the United States
2) in the United States but is now in Italy
3) poor earlier but became rich later on

4) rich earlier but now poor

Correct Answer: poor earlier but became rich later on
Candidate Answer: poor earlier but became rich later on

Question 99.A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives and
click the button corresponding to it.

My brother, David, was always close to our grandmother. Both of them shared a love of Mother Nature and of food that they had grown themselves. Whenever his
schedule permitted, he would drop in for a short visit and a cup of coffee. One day, when he found no one home, he left a chunk of dirt on her porch. This started
what was later to be known as his "calling card". Grandmother would come home occasionally and instantly know that Dave had been by when she spotted the chunk
of dirt on her porch.

Although Grandmother had a poor upbringing in Italy, she managed to do well in the United States. She was always healthy and independent and enjoyed a fulfilling
life. Recently she had a stroke and died. Everyone was saddened by her death. David was disconsolate. His life-long friend was now gone.

Grandmother enjoyed a life.
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Options:

1) healthy but sickly

2) good and healthy

3) rich but sickly

4) poor and healthy

Correct Answer: good and healthy

Candidate Answer: good and healthy

Question 100.A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives
and click the button corresponding to it.

My brother, David, was always close to our grandmother. Both of them shared a love of Mother Nature and of food that they had grown themselves. Whenever his
schedule permitted, he would drop in for a short visit and a cup of coffee. One day, when he found no one home, he left a chunk of dirt on her porch. This started
what was later to be known as his "calling card". Grandmother would come home occasionally and instantly know that Dave had been by when she spotted the chunk
of dirt on her porch.

Although Grandmother had a poor upbringing in Italy, she managed to do well in the United States. She was always healthy and independent and enjoyed a fulfilling
life. Recently she had a stroke and died. Everyone was saddened by her death. David was disconsolate. His life-long friend was now gone.

Grandmother's death made everyone
Options:

1) sad including David

2) disconsolate excluding David

3) happy and disconsolate

4) sad excluding David

Correct Answer: sad including David

Candidate Answer: sad including David





